
SAP ABAP table VIWB51 {WB: Laufende Aufwendungen II - Bewirtschaftungskosten}

VIWB51

MANDT [CLNT (3)]

SWBNR [CHAR (8)]

SWBIND [CHAR (8)]

ZUDAT [DATS (8)]

AUFWART [CHAR (4)]

EWERT [UNIT (3)]

T000

MANDT [CLNT (3)] VIWB51-MANDT = T000-MANDT 
0..N

1

TIVWB09

MANDT [CLNT (3)]

FEINS [UNIT (3)]
 VIWB51-EWERT = TIVWB09-FEINS 0..N

1
TIVWB52

MANDT [CLNT (3)]

AUFWART [CHAR (4)]

 VIWB51-AUFWART = TIVWB52-AUFWART 
0..N1

VIWB00

MANDT [CLNT (3)]

SWBNR [CHAR (8)]

 VIWB51-SWBNR = VIWB00-SWBNR 

0..N

1

VIWB01

MANDT [CLNT (3)]

SWBNR [CHAR (8)]

SWBIND [CHAR (8)]

 VIWB51-SWBIND = VIWB01-SWBIND 

0..N

1


